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#!/bin/sh

12CADDR=0x29

# Function paramters
# $1 : Reg address
read_byte_register ()
{
reg=9$1
val=$ ((0x80 | reg))
echo " i2cget —f —y 3 $I2CADDR $val b~

read_word_register ()
{
reg=$1
val=$ ((0xA0 | reg))
echo "i2cget —f —y 3 $I12CADDR $val w

write_byte_register()
{
reg=$1
val=$((0x80 | reg))
echo " i2cset —f —y 3 $I2CADDR $val $2 b

# Power on

$ (write_byte_register 0x0 0x03)

if [ $? !=01; then
echo “Error: Communication error with TSL2561.
exit 1;

fi

# device check

id=$ (read_byte_register 0xA)

if [ $2 1=01 | [ $id != 0x50 1; then
echo “Error: Communication error with TSL2561.
exit 1;

fi

# Disable interrupt

$(write_byte_register 0x6 0x00)

# Wait at least 400ms and Read data

usleep 400000

echo “CHANO CHAN1 LUX”

while [ 1 ]; do

Make sure it’s connected”

Make sure it’s connected”
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chan0=$ (read_word_register 0xC)
chanl=$ (read_word_register OxE)
chan0=§ ((chan0 & Oxffff))
chan1=$ ((chanl & Oxffff))
if [ $chan0 —eq 0 ]; then

lux=0
else
# FN package (Check piecewise approximation in document)
lux="echo $chan0 $chanl | awk ’ {range=$2/$1; printf”%0.6f¥n”, ¥
(range <= 0.125)? ((0.0304%$1) - (0.0272%$2)) : (¥
(range <= 0.250)? ((0.0325%$1) - (0.0440%$2)) : (¥
(range <= 0.375)? ((0.0351%§1) — (0.0544%$2)) : (¥
(range <= 0.50)? ((0.0381%$1) — (0.0624%$2)) : (¥
(range <= 0.61)? ((0.0224%$1) — (0.031%$2)) : (¥
(range <= 0.80)? ((0.0128%$1) — (0.0153%$2)) : (¥
(range <= 1.30)? ((0.00146%$1) — (0.00112%$2)) : 0))))))}""
fi
echo ”$chan0 $chanl $1lux”
# delay

usleep 500000

done
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# ts12561. sh

CHANO CHAN1 LUX

1189 142 32. 283200
1189 142 32. 283200
1189 142 32. 283200
1190 142 32. 313600
1190 142 32. 313600
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